A1 =TV I— DB RERERR

T R E s E B KRR

ORIEHS  BYEISSERT PA—1000
ORIEAE BHNEEIZ DM EImTHRIE

faze MEE | BM | il
WREAS2 =TV 53— 11815H 10:10 0.040
BAREFISa=TsEV2— 11H15H 8:50 0.092
MgIAZTa=T1E52— 118148 8:45 0.064
ERFAIZ2a =T E— 118168 13:30 0.062
FMEISI =Tt R— 118178 10:30 0.074
AREIS A= T 22— 11A15H 14:50 0.064
RAKFIZa=T1EU52— 11A15H 8:40 0.090
HRAZ2=TaEVE— 11A15H 11:46 0.056
EREIZ2a =T E— 118148 9:00 0.059
REEIZa=TsE2— 118150 8:55 0.070
RFAZa=T14EU5— 11A158 10:00 0.079
FEIZaA=TaEVI— 118148 9:00 0.075
KEFIZa=ToE 82— 118168 10:15 0.058
BENAZa=TaEVE— 118150 10:40 0.071




